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ÍÛæ̃ Û¶ÛÛ :   ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 
Instruction : All questions carry equal marks. 

 
1. ïõÛýÛÙ ¸ÛýÛÛÙÈÛÁõ¨Û¶Ûà ´ùÜÌ¤ø…é ÍÛ×•Ûà©Û ©Û¬ÛÛ –ÛÛê–ÛÛ¤ø¶Ûà …ÍÛÁõÛé ÈÛ¨ÛÙÈÛÛé. 14 

 Discuss the effects of Music and Noise from the view point of work environment. 

             …¬ÛÈÛÛ/OR 
 …ïõÍ¾ÛÛ©Û ¸ÛóÈÛ¨Û©ÛÛ …é¤øÅÛé ÉÛä× ? …ïõÍ¾ÛÛ©Û ¸ÛóÈÛ¨Û©ÛÛ¶ÛÛ× ÜÍÛ±ùÛ×©Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
 What is accident proneness ? Discuss it’s theories. 

 
2. ïõÛýÛÙ ÍÛ×©ÛÛéÌÛ …é¤øÅÛé ÉÛä× ? ïõÛýÛÙ ÍÛ×©ÛÛéÌÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ –Û¤øïõÛé ÍÛ¾Û›ÛÈÛÛé. 14 
 What is Job Satisfaction ? Clarify determinants influencing Job satisfaction. 

            …¬ÛÈÛÛ/OR 
 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 
 Write short notes : 

 (i) ¸ÛóéÁõ¨ÛÛ¶ÛÛé ˆ.…ÛÁõ.œ÷. ÜÍÛ±ùÛ×©Û 
  E.R.G. theory of Motivation 

 (ii) ÍÛ×©ÛäÌ¤ø ïõ¾ÛÙ̃ ÛÛÁõà¶ÛÛ× ÅÛ“Û¨ÛÛé 
  Personal characteristics of satisfied workers 

 
3. ïõÛýÛÙ Í¬ÛÇ Š¸ÛÁõ¶ÛÛ× ¾Û¶ÛÛé½ÛÛÁõ¶ÛÛ× ïõÛÁõ¨ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 
 Discuss various causes of stress at work place. 

     …¬ÛÈÛÛ/OR 
 ïõÛýÛÙ Í¬ÛÇ Š¸ÛÁõ¶ÛÛ× ¾Û¶ÛÛé½ÛÛÁ¶ÛÛ× Š¸Ûõ˜ÛÛÁõ¶Ûà ¸ÛóýÛäÜî©Û…Ûé ÍÛ¾Û›ÛÈÛÛé. 
 Clarify various methods for curing stress at work place. 

 
4. ÜÈÛßÛÛ¸Û¶Û¶Ûä× ÍÈÛÄõ¸Û …¶Ûé ïõÛýÛÙ“ÛéªÛ Í¸ÛÌ¤ø ïõÁõÛé. 14 
 Clarify the nature and scope of Advertisement. 

        …¬ÛÈÛÛ/OR 
 Š¸Û½ÛÛéî©ÛÛ …½ýÛÛÍÛ …×•Ûé¶Ûà ÍÛ×ÉÛÛéµÛ¶Û ¸Û±ùÜ©Û…Ûé¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û ¼Ûé ¸Û±ùÜ©Û…Ûé ÍÛ¾Û›ÛÈÛÛé. 
 Clarify any two research methods of study of consumers. 
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5. (a) ¶Ûà˜Ûé¶ÛÛ× ÜÈÛµÛÛ¶ÛÛé ”ÛÁõÛ× ™öé ïéõ ”ÛÛé¤øÛ× ©Ûé ›÷¨ÛÛÈÛÛé : 6 
  State the following sentences whether it is true or false : 

  (1) ÈÛµÛä ŠÌ¨Û©ÛÛ¾ÛÛ¶Û ÐüÛéýÛ …éÈÛÛ ïõÛýÛÙ¶ÛÛ× Í¬ÛÇé •ÛÁõ¾Û Á×õ•ÛÛé¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõÈÛÛé ›Ûé̂ …é. 
   In the work place with high temperature dark colour should be used. 

  (2) …ÈÛÛ›÷¶Ûà ©ÛàÈÛó©ÛÛ¶Ûä× ¾ÛÛ¸Û¶Û ‘¦éøÜÍÛ¼ÛÅÛ’¾ÛÛ× ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 
   Intensity of sound is measured in Decibel. 

  (3) ›÷ÄõÜÁõýÛÛ©ÛÛé¶ÛÛé ËÛé̈ Ûà’õ¾Û¶ÛÛé ÜÍÛ±Û×©Û »éõ¦øÜÁõïõ Ðü¡Ùö¼Û•Ûë …Û¸ýÛÛé ™öé. 
   Fedrick Herzburg has given need Hierarchy theory. 

  (4) Ôä•ÛÛé ¾Ûä¶Í¤øÁõ¼Û•ÛÙ¶ÛÛé …Ûíé²ÛéÜ•Ûïõ ¾Û¶ÛÛéÜÈÛßÛÛ¶Û¶Ûà Í¬ÛÛ¸Û¶ÛÛ ïõÁõÈÛÛ¾ÛÛ× ¾ÛÐü«ÈÛ¶ÛÛé ºõÛÇÛé ™öé. 
   Hugo Munsterberg played big role in established Industrial Psychology. 

  (5) ÜÈÛßÛÛ¸Û¶Û¶Ûé ÈÛµÛä …ÍÛÁõïõÛÁõïõ ¼Û¶ÛÛÈÛÈÛÛ ÈýÛÛ¸ÛÛÁõà ¾ÛÛïõÛÙ¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé. 
   Trade mark issued to make advertisement more effective. 

  (6) ÝÐüÍÛïõ ÜºõÅ¾ÛÛé ›ÛéÈÛÛ¬Ûà þùÉÛÙïõÛé¶ÛÛé •ÛäÍÍÛÛé ÈÛµÛé ™öé …¶Ûé ÜÈÛßÛÛ¸Û¶Û …×•Ûé¶Ûà ©Ûé¾Û¶Ûà Í¾ÛèÜ©Û –Û¤éø 
™öé. 

   Viewing aggressive films makes viewers angry and decreases their memory 

towards advertisement. 

 (b) ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé : 8 
  Fill in the blanks : 

  (1) ›÷é¾Û ïõÛýÛÙ¶ÛÛ× ¸ÛýÛÛÙÈÛÁõ¨Û¶Ûä× ŠÌ¨Û©ÛÛ¾ÛÛ¶Û ÈÛµÛä ©Ûé¾Û …ïõÍ¾ÛÛ©Û ¬ÛÈÛÛ¶Ûä× ¸Ûó¾ÛÛ¨Û _____. 
   When the temperature of work environment is high, chances of accident also 

becomes __________. 

  (2) Š²Ûé•Û¾ÛÛ× ¬Û©ÛÛ …ïõÍ¾ÛÛ©Û …¶Ûé ¬ÛÛïõ ÈÛ˜˜Ûé _____ ÍÛ×¼Û×µÛ ™öé. 
   There is a __________ relationship between accident and fatigue in industry. 

  (3) ¶ÛÛéïõÁõà¶Ûà ïõ“ÛÛ …¶Ûé ïõÛýÛÙ ÍÛ×©ÛÛéÌÛ ÈÛ˜˜Ûé¶ÛÛ× ÍÛ×¼Û×µÛ¶ÛÛé …½ýÛÛÍÛ _____ ïõýÛÛë ™öé. 
   __________ has studied the relationship between level of work and job 

satisfaction. 

  (4) ¸ÛóéÁõ¨ÛÛ ÍÈÛÛÍ¬ýÛ¶ÛÛé ÜÍÛ±ùÛ×©Û _____ …Û¸ýÛÛé ™öé. 
   Theory of Motivation Health is given by __________. 

  (5) ¾Û¶ÛÛé½ÛÛÁõ ¸Ûó©ýÛé¶Ûà ÍÛÐü¶ÛÉÛàÅÛ©ÛÛ¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× ÈýÛÜî©Û©ÈÛ¶ÛÛ× _____ ¸ÛóïõÛÁõÛé ¸Û¦éø ™öé. 
   With reference to tolerance of stress there are __________ types of 

personality. 

  (6) ¾Û¶ÛÛéÜÈÛßÛÛ¶Ûà…Ûé _____ ¸ÛóïõÛÁõ¶ÛÛ× Áõ”Û¦äø ¤éøÜÅÛÜÈÛ¡ö¶Û þùÉÛÙïõÛé ÍÛæ̃ ÛÈÛé ™öé. 
   According to psychologist there are __________ kinds of disinterested 

television viewers. 

  (7) ïõ¾ÛÙ̃ ÛÛÁõà¶Ûà ïõÛýÛÙ ïõÁõÈÛÛ¶Ûà ïõ“ÛÛ …Ûé™öà ©Ûé¾Û ¾Û¶ÛÛé½ÛÛÁõ¶Ûà Ü¶ÛÌÛéµÛïõ …ÍÛÁõ _____. 
   When the degree of worker’s work is less, the negative effect of stress is 

__________. 

  (8) _____ ÈÛé¼ÛÍÛÛˆ¤ø ³ùÛÁõÛ …¸ÛÛ©ÛÛ ÜÈÛßÛÛ¸Û¶Û ÜÈÛÌÛé¶ÛÛ× ÍÛ×ÉÛÛéµÛ¶ÛÛé ÜÈÛÌÛé ¾ÛÛÜÐü©Ûà …Û¸Ûà ™öé. 
   __________ has given the information about the research regarding 

advertisement on website. 

__________ 
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ÍÛæ̃ Û¶ÛÛ :   ›÷¾Û¨Ûà ¼ÛÛ›ä÷ þùÉÛÛÙÈÛéÅÛÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ ¸ÛæÁõÛ •Ûä̈ Û ÍÛæ̃ ÛÈÛé ™öé. 
Instruction : The number of the right indicates full marks per question. 

 

1. ÍÛÛÐü˜ÛýÛÙ …é¤øÅÛé ÉÛä× ? ÍÛÛÐü˜ÛýÛÙ¶ÛÛ ¾Ûä”ýÛ …¶Ûé •ÛÛíé̈ Û Ü¶ÛýÛ¾ÛÛé ÜÈÛ•Û©ÛÈÛÛÁõ ÍÛ¾Û›ÛÈÛÛé. 14 
 What is Association ? Explain in detail, the primary and secondary laws of association. 

       …¬ÛÈÛÛ/OR 
 ÍÛÛÐü˜ÛýÛÙ¶ÛÛé Ü˜ÛÜïõ©ÍÛÛ©¾Ûïõ …¶Ûé Ü¶ÛþùÛ¶ÛÛ©¾Ûïõ Š¸ÛýÛÛé•Û ›÷¨ÛÛÈÛÛé. 
 Explain the clinical and diagnostic use of association. 
 
2. ÜÉÛ“Û¨Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸Ûà, ÜÉÛ“Û¨Û¶ÛÛ ¸ÛóïõÛÁõÛé ÜÈÛ•Û©Ûé ˜Û˜ÛÛë. 14 
 Give definition of learning and discuss in detail types of learning. 

       …¬ÛÈÛÛ/OR 
 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 
 Write short notes : 

 (i) ÜÉÛ“Û¨Û¶ÛÛ ˜Û§ø©ÛÛ ÈÛ’õ¶ÛÛ ¸ÛóïõÛÁõÛé. 
  Types of rising curves in learning. 

 (ii) ÜÈÛ¶ÍÛé¶¤ø ÈÛ’õ 
  Vincent curve 
 
3. ÉÛÛÜ¼þùïõ ÜÉÛ“Û¨Û¾ÛÛ× ¾ÛÐüÛÈÛÁõÛ¶Ûà ¸Û±ùÜ©Û…Ûé ÈÛ¨ÛÙÈÛÛé. 14 
 Describe the method of practice in verbal learning. 

           …¬ÛÈÛÛ/OR 
 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 
 Write short notes : 

 (i) ÜÉÛ“Û¨Û ¸ÛÁõ ¾ÛÛ¶ÛÜÍÛïõ ©Û©¸ÛÁõ©ÛÛ …¶Ûé ¸ÛóéÁõ¨ÛÛ¶Ûà …ÍÛÁõ. 
  The effect of mental Agility and motivation on learning. 

 (ii) ÉÛÛÜ¼þùïõ ÜÉÛ“Û¨Û¾ÛÛ× ’õÜ¾Ûïõ Í¬ÛÛ¶Û¶Ûà …ÍÛÁõÛé. 
  Serial position effects in verbal learning. 
 
4. ÍÛ×ïõÅ¸Û¶ÛÛ …é¤øÅÛé ÉÛä× ? ÍÛ×ïõÅ¸Û¶ÛÛ¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé ÈÛ¨ÛÙÈÛÛé. 14 
 What is Concept ? Describe the various types of concepts. 

           …¬ÛÈÛÛ/OR 
 ÍÛ¾ÛÍýÛÛ ŠïéõÅÛ¾ÛÛ× …Û×©ÛÁõÍÛæ¡ö¶ÛÛé ºõÛÇÛé ˜Û˜ÛÛë. 
 Discuss the contribution of insight in problem solving. 
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5. (a) ïõÛíêÍÛ¾ÛÛ× …Û¸ÛéÅÛÛ ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé : 7 
  Fill in the blanks using an alternative from the bracket : 

  (1) ______ …é ÍÛÛíȩ́ Ûó¬Û¾Û ÈÛ”Û©Û ÍÛÛÐü˜ÛýÛÙ¶ÛÛé ”ýÛÛÅÛ Áõ›æ÷ ïõýÛÛë. 
     (…éÜÁõÍ¤øÛé¤øÅÛ, ÅÛéÉÅÛà) 
   __________ has introduced the concept of association for the first time.   

     (Aristotle, Lashly) 

  (2) ______ ÍÛÛÐü˜ÛýÛÙ…é ¾Ûäî©Û ÍÛÛÐü˜ÛýÛÙ¶ÛÛé ¸ÛóïõÛÁõ ™öé. 
     (¸ÛþùÛ¬ÛÙ-ÉÛ¼þù, ÉÛ¼þù-ÉÛ¼þù) 
   Free association is a type of __________ association. 

     (Object-word, word-word)  

  (3) ÜÉÛ“Û¨Û ³ùÛÁõÛ ÈÛ©ÛÙ¶Û¾ÛÛ× ______ ©ÛéÈÛÛé ºéõÁõºõÛÁõ …ÛÈÛé ™öé. 
     (¾ÛÛ¸Ûà ÉÛïõÛýÛ, ½ÛÜÈÛÌýÛïõ¬Û¶Û ïõÁõà ÉÛïõÛýÛ) 
   Learning brings about __________ change in behaviour. 

     (measurable, predictable) 

  (4) ÍÛ¾ÛÍýÛÛ ŠïéõÅÛ …×•Ûé¶ÛÛ ¸ÛóÛýÛÛéÜ•Ûïõ …½ýÛÛÍÛÛé ______ ¶ÛÛ¾Û¶ÛÛ ¾Û¶ÛÛéÈÛíéßÛÛÜ¶Ûïéõ ïõýÛÛÙ Ðü©ÛÛ. 
     (ÁõÛé›÷Áõ, ÐüÅÛ) 
   __________ was the psychologist who did experimental studies related to 

problem solving. (Roger, Hull)   

  (5) ______ …é …¬ÛÙÐüà¶Û ¸ÛþùÛé¶Ûà Áõ˜Û¶ÛÛ ïõÁõà Ðü©Ûà. 
     (…éÝ¼Û•ÛÐüÛéÍÛ, Í¤éøÅÛÁõ) 
   Non-sense syllables were created by __________. 

     (Ebbinghaus, Stellar) 

  (6) ÜÉÛ“Û¨Û ¸ÛóÜ’õýÛÛ¾ÛÛ× ______ ¸Û±ùÜ©Û ïõÛýÛÙ¶ÛÛ× ÜÈÛ©ÛÁõ¨Û ÍÛÛ¬Ûé ÍÛ×¼Û×ÜµÛ©Û ™öé. 
     (ÍÛ¾Û•Ûó ÜÈÛÄõ±ù ÜÈÛ½ÛÛ•Û, …ÛïõÜÍ¾Ûïõ ÜÉÛ“Û¨Û) 
   __________ method is related to distribution of work in the learning process. 

     (Whole v/s part, incidental learning) 

  (7) ÈÛíéïõÜÅ¸Ûïõ ÍÛ×ïõÅ¸Û¶ÛÛ ______ ¸ÛóïõÛÁõ¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ ™öé. (ÍÛÛþùà, ›÷Ü¤øÅÛ)   
   Disjunctive concept is a type of __________ concept. (simple, complex)   

 (b) ›Ûé¦øïõÛ •ÛÛé¥øÈÛÛé : 7 

  Match the List : 

A B 

(1) ÍÛÛÐü˜ÛýÛÙ 
 Association 

(a) …Ûé›ÛˆÈÛ 
 Ogive 

(2) ÈÛÛÁ×õÈÛÛÁõ¶ÛÛ ïõÛé¥øÛ…Ûé 
 Frequency table  

(b) Ðüà¦ø¼Ûóà¦øÁ 
 Heidbrederõ 

(3) ‘Sø’ …ÛïõÛÁõ¶ÛÛé ÈÛ’õ 
 ‘S’ shaped curve  

(cõ) ˜Û§ø©ÛÛé-Š©ÛÁõ©ÛÛé 
 Rising-falling  

(4) ÜÉÛ“Û¨Û¶ÛÛ ÈÛ’õÛé 
 Learning curves 

(dø) ¸ÛóÜ©ÛÜ’õýÛÛ¶ÛÛé ÍÛ¾ÛýÛ 
 Reaction time 

(5) ÉÛÛÜ¼þùïõ ÜÉÛ“Û¨Û 
 Verbal Learning 

(e) ÐüÛé¼ÛÐüÛŠÍÛ 
 Hobbhouse 

(6) ÈÛ•ÛâïõÁõ¨Û¶ÛÛ ¸ÛóýÛÛé•ÛÛé 
 Sorting experiments 

(f) ïéõ¶¤ø-ÁõÛéÍÛ¶ÛÛéºõ 
 Kent-Rosanoff 

(7) þùÛéÁõà ÜÈÛ½Ûéþù¶Û ÍÛ¾ÛÍýÛÛ 
 String discrimination problem 

(g) ’õÜ¾Ûïõ ÜÉÛ“Û¨Û 
 Serial learning 

_____________ 


